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402 : Financial Management 

Time :  3 Hours] [Max. Marks : 70 

1. 7

Explain the evolution of Financial Management. 

/OR

Explain various types of Financial Decisions. 

4

Attempt any two : 

(i)

Discuss scope of Financial Management. 

(ii)

Liquidity v/s. Profitability 

(iii)

Explain emerging role of Finance Manager. 

3

Answer the following : 

(i) 

What is Wealth Maximisation ? 

(ii)

 Define Financial Management. 

(iii) (Earnings per share) ?

How earnings per share is calculated ? 

2. 10,000 5 10%

5 (Time-line)

7

Mr. X deposits ` 10,000 annually in a bank for 5 years @ 10% p.a. What will be 

the value of this annuity at the end of 5 years ? Also show it on Time-Line. 

/OR

[Max. Marks : 70 [Max. Marks : 70 

7

Discuss scope of Financial Management. Discuss scope of Financial Management. 

Liquidity v/s. Profitability Liquidity v/s. Profitability 

Explain emerging role of Finance Manager. Explain emerging role of Finance Manager. 

Answer the following : Answer the following : 

What is Wealth Maximisation ? What is Wealth Maximisation ? 

(ii)

 Define Financial Management.  Define Financial Management. 

(iii)(iii)

How earnings per share is calculated ? How earnings per share is calculated ? 

2.2.
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What is Risk ? Explain the methods of measurement of Risk. 

4

Attempt any two : 

  (i) 

Explain Zero Coupon Bond. 

(ii)

Why there is time value of money ? 

(iii)

State various types of Bond. 

3

Answer the following : 

  (i) (Compound) ?

   What is Compound Value ? 

  (ii) ?

   What is Security Market Line ? 

  (iii) (CAPM)

State CAPM Model.

3. ` 4,00,000

: 14

1 70,000 

2 70,000 

3 70,000 

4 70,000 

5 70,000 

6 80,000 

7 1,00,000 

8 1,50,000 

9 1,00,000 

10 40,000 

10%

::

1 70,000 1 70,000 

2 70,000 2 70,000 

3 70,000 3 70,000 

4 70,000 4 70,000 

5 70,000 5 70,000 

6 80,000 6 80,000 

7 1,00,000 7 1,00,000 

8 1,50,000 8 1,50,000 
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A company has an investment opportunity costing ` 4,00,000 with the following 
expected net cash flow (i.e. after tax and before depreciation) : 

Year Net Cash Flow 

1 70,000 

2 70,000 

3 70,000 

4 70,000 

5 70,000 

6 80,000 

7 1,00,000 

8 1,50,000 

9 1,00,000 

10 40,000 

 Using 10% cost of capital, determine : 

 (a) Pay-Back Period 

 (b) Net Present Value 

 (c) Profitability Index 

 (d) Internal Rate of return with 10% and 15% discounting factor. 

/OR
10

`)

80

30

            60

           170

` 

 (d) Internal Rate of return with 10% and 15% discounting factor. ith 10% and 15% discounting factor. 

/OR/OR
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50%

` 1,00,000

52

  From the following information, you are required to estimate net working 

capital.

Cost per unit (`)

  Raw Material 80

  Direct Labour 30

  Overhead (excluding depreciation)       60

   Total cost                                      170

Additional Information : 

Selling price ` 200 per unit 

Output 52,000 units p.a. 

Raw material in stock Average 4 weeks 

Work in progress Average 2 weeks 

(Assume 50% completion stage with full material)  

Finished goods in stock Average 4 weeks 

Credit allowed by Supplier Average 4 weeks 

Credit allowed to Debtors Average 8 weeks 

  Cash at bank is expected to be ` 1,00,000. Assume that production is carried out 

at even pace during 52 weeks of year. All sales are on credit basis. State any 

other assumptions that you might have made while computing.

4

  Discuss importance of Capital Budgeting Decisions. 

e required to estimate net working e required to estimate net working 

Cost per unit (`))

80

30

  Overhead (excluding depreciation)       60  Overhead (excluding depreciation)       60

   Total cost                                      170   Total cost                                      170

Additional Information : 

Raw material in stock Raw material in stock 

Work in progress Work in progress 

(Assume 50% completion stage with full material)  (Assume 50% completion stage with full material)  

Finished goods in stock Finished goods in stock 

Credit allowed by Supplier Credit allowed by Supplier 

Credit allowed to Debtors Credit allowed to Debtors 

  Cash at bank is expected to be   Cash at bank is expected to be 

at even pace during 52 weeks of year. 

other assumptions that you might
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7

15% 0.50 0.52 

12% 0.30 0.28 

10%  0.20   0.20 

 1.00 1.00 

  A company has the following specific cost along with book and market value 

weights.

Types of Capital Cost Book value 

weights 

Market value 

weights 

Equity 15% 0.50 0.52 

Preference shares 12% 0.30 0.28 

Debentures 10%   0.20    0.20 

  1.00 1.00 

  Calculate weighted average cost of capital, using book value weights and market 

value weights. 

/OR

(1)

` 2, ` 2,00,000.

` 0.70

` 1,00,000

` 3,668

  (2) 

(1) Calculate the degree of operating leverage, degree of financial leverage and 

combined leverage from following data : 

   Sales 1,00,000 units at ` 2 per unit is ` 2,00,000.

   Variable cost per unit at ` 0.70

   Fixed cost ` 1,00,000

   Interest charges ` 3,668

cost along with book and market value cost along with book and market value 

Market value Market value 

weights weights 

Equity 15% 0.50 0.52 Equity 15% 0.50 0.52 

Preference shares 12% 0.30 0.28 Preference shares 12% 0.30 0.28 

Debentures 10%   0.20 Debentures 10%   0.20    0.20    0.20 

  1.00 1.00   1.00 1.00 

  Calculate weighted average cost of   Calculate weighted average cost of capital, using book value weights and market capital, using book value weights and market 

/OR/OR

  (2)   (2) 

(1) Calculate the degree of operating leve(1) Calculate the degree of operating leve
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  (2) Also state, which combination of operating and financial leverage 

constitute : 

   (a) Risky situation and (b) Ideal situation 

4

Attempt any two : 

(i)

 List sources of long-term finance. 

(ii) (NI)

 Explain Net Income (NI) Approach of capital structure. 

(iii) “ ”

?

   “Retained Earnings is a cost free source of finance”. Do you agree with the 

statement ? 

3

Answer the following : 

(i) ?

   What is Operating Leverage ? 

  (ii) 

 Give formula of Walter’s dividend model. 

(iii) ?

   What is Capital Structure ? 

5. 14

Attempt any seven from the following :  

(i)

What is Net Working Capital ? 

(ii)

What is Pay-back period ? 

(iii)

Define Time-Value of Money. 

(iv)

What is Cost of Capital ? 

44

oach of capital structure. 

”

source of finance”. Do you agree with the source of finance”. Do you agree with the 

   What is Operating Leverage ?    What is Operating Leverage ? 

 Give formula of Walter’s dividend model.  Give formula of Walter’s dividend model. 

??

   What is Capital Structure ?    What is Capital Structure ? 

Attempt any Attempt any sevenseven from the following :   from the following :  

(i)

What is Net Working Capital ? What is Net Working Capital ? 

(ii)(ii)

What is Pay-back period ? What is Pay-back period ? 

(iii)(iii)
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(v)

  State classification of Dividend Policies. 

(vi)

State approaches of financing for working capital requirements. 

(vii) ?

  What is Market Risk ? 

 (viii) 

  What is Standard Deviation ? 

 (ix) 

State concept of Risk & Return. 

(x)

List types of Finance Decisions. 

____________________________________
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